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S = SHR X Hp = 1.25 X 2 = 2.5m
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n,=W/S=5/25 = 2 rows
m = N/n, = 14/2 = 7lamps per row
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cos@y = 1.0 = tang, =0
cosp, = 0.8 = tang@, = 0.75

Q4 =P tang, =2%x0=0
Q, = P tan g, =10 X 0.75 = 7.5kVAr
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p=P +P,=2+10=12kW

0=0,+0,=0+475= 7.5kVAr
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s = JPT+ Q% = V127 + 757 = 14.151kVA

cosg = P/S =12/14.151 = 0.848
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cos @ = 0.848 = tang@ = 0.625
cosg' =0.93 = tang’ = 0.395
. = P(tang - tan ¢') = 12(0.625 — 0.395) = 2.76KVAr
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0.2 = 860/(0.6x)
x = 860/(0.2 X 0.6) = 7166.667 kcal /kg
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I, = I,/K = 7547/06 = 125783A < 135A
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Au = ki, #(rycos @ + Xo Sin @)
A =3 X 7547 x 0.06 X (0.9 X 0.85 + 0.08 x 0.527) = 6.331V
Au%h = > x 100 = 832 x 100 = 1.583%
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